Math 10P 4.11 — Graphing Quadratics From Vertex Form
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Recall that vertex formis: y = a(x — h)? + k



y=2(x—5)%+3

-
-

P S S N R R s R

o

x

-
2345678910

e |
<400 -B.~T o =5l -3 2

sk

o~ ki

o

-10¥

—1
yZT(X+4)2+6 1“;

B RS Ry s R e o e

X

- -
-10-9-8-7-6-5-4-3-2-100 1 2345678910
ol |
k2
=3
|
-5
-6
-7
-8

-9
-10¥




10P 4.11 Homework

For each question, list the a, h, and k, then create the necessary table of values. Graph the final result on
the provided graph paper, labeling which graph is which.

1. y=2(x—-3)2+6
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